Homework #4 Key

Selected Problems
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114. This equation is incorrect.  The coefficient should be 0.02, not 0.2
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b) x = 8

Homework

1.7

6. [-2,5]
{x| -2 ≤ x ≤ 5}

12. (-∞,2)
{x| x < 2}

18. (-4,0) U [-2,1]
{x| -4 < x < 0 or -2 ≤ x ≤ 1} or {x | -4 < x ≤ 1}
24. [2,∞) ∩ (4,0)
{x| 2 ≤x and 4<x} or {x| 4 < x}
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114.{x| 7 < x < 9}, passion < commitment
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138. First, solve for the absolute value expression if need be.  Then for less than cases, such as |x|<4, the double inequality that results is -4<x<4.  The left endpoint is the negative of the right.  Drop the absolute values.  Solve like other double inequalities if need be.  For greater than cases like |x|>4, two non-overlapping inequalities result: x<-4 (flip the inequality & sign of endpoint) and x>4 (where just the absolute value drops).  Solve each inequality separately if need be.  They cannot be combined at the end as there will be no overlap.
144. just test points by hand if need be.  If it works in the original inequality, it should work in the solution.

150. You do not have to do the group exercise.
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